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1	Introduction
The way SSB-ToMeasure is treated has been discussed in RAN2#108. Some decision was made during the meeting. In this document, we present our point of view on the subject and make proposal for the way forward.
2	Discussions
During RAN2#108 meeting, document R2-1915423 was discussed. The output in RAN2 Report was:
	R2-1915423	On SSB-ToMeasure clarifications	Ericsson	discussion	Rel-15	NR_newRAT-Core
R2-1915424	CR to 38.331 on SSB-ToMeasure clarifications	Ericsson	CR	Rel-15	38.331	15.7.0	1370	-	F	NR_newRAT-Core
R2-1915425	CR to 36.331 on SSB-ToMeasure clarifications	Ericsson	CR	Rel-15	36.331	15.7.0	4147	-	F	NR_newRAT-Core

DISCUSSION
- 	Huawei think CR is not needed. 
- 	MTK think we can agree P1 but think CR is not needed. QC can also agree P1 but think the CRs are not correct. 
- 	QC think that “within SMTC duration” is R1 text and is ok because if SMTC is not configured, the UE will anyway have a default assumption. 
RAN2 confirms that the SSB-ToMeasure is based on the absolute SSBIndexes.
Not pursued




We would like to raise some issues linked with the decision.
2.1	SMTC and unsynchronized network
In the example provided in R2-1915423, the Cells are not fully synchronized. They are not SFN-synchronized but (only) frame boundary - aligned.
This raises two comments about the presented use case:
· If the Cells can be only frame boundary - aligned, why not fully synchronize them and have them SFN-aligned?
· If the Cells are fully unsynchronized (i.e. neither frame- nor slot-aligned), then SMTC should not be used. Indeed, the shift of synchronization will make the use of SMTC not relevant. In this case, the SSB burst should be scheduled every 5 ms (to ensure UE will be able to find such cells with blind SSB search regardless of the timing).
Observation 1: When the cells can be aligned to frame boundary, they can also be SFN-aligned so there is no reason not to align the SSB index as well between cells.
2.2	Use of  “deriveSSB-IndexFromCell”
[bookmark: _Hlk30084522]The parameter deriveSSB-IndexFromCell  (BOOLEAN) can be signalled to the UE for both Intra- and Inter-frequency NR measurements, and has the following field description.
deriveSSB-IndexFromCell
This field indicates whether the UE may use the timing of any detected cell on that frequency to derive the SSB index of all neighbour cells on that frequency. If this field is set to true, the UE assumes SFN and frame boundary alignment across cells on the neighbor frequency as specified in TS 38.133 [14].

As seen above, in the example given in R2-1915423, SFN are not aligned between cells. Therefore, this field cannot be used in such deployments.
Observation 2: In the example given in R2-1915423, deriveSSB-IndexFromCell option can’t be used.
2.3	Impact on UE Measurements
The example below is derived from R2-1915423. 
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Figure 1: SSB index and SMTC configuration 
If SSB-ToMeasure is based on the absolute SSB Indexes, UE will monitor ALL the SSB index occasions in SMTC regardless of SSB-ToMeasure  configuration to check if there is a SSB index present. If yes, it will have to decode the SSB to get its SSB index, which the UE will then report if the index is given in the SSB-ToMeasure.
In this case, the role of SSB-ToMeasure is only to prevent some SSB index to be used for reporting and event trigger evaluation.
If the SSB-ToMeasure is based on the SMTC position, UE will monitor ONLY the SSB index configured in SSB-ToMeasure  to check if a SSB is present. It will report it if detected.
Observation 3: if SSB index are based on absolute SSBIndexes for SSB-ToMeasure, the UE will anyway make measurement and ALL SSB indexes, but will report only the one configured in SSB-ToMeasure
The IE SSB-ToMeasure is also present in SIB2 and SIB4 for the measurement of neighbouring cell. 
2.4	Proposals
Based on the analysis above, we think that RAN2 should consider all the consequences of the use of the decision made in RAN2#108 and reconsider the decision if needed.
Proposal 1: RAN2 should consider all the consequences of using absolute SSB-Indexes for SSB-ToMeasure. 
Proposal 2: Clarify in IE description of SSB-ToMeasure that absolute SSB indexes are used.
3	Conclusion

In this document we made the following bservations:
Observation 1: When the cells can be aligned to frame boundary there is no reason not to align the SSB index as well between cells (align SFN).
Observation 2: In the example given in R2-1915423, deriveSSB-IndexFromCell option can’t be used.
Observation 3: if SSB index are based on absolute SSBIndexes for SSB-ToMeasure, the UE will anyway make measurement and ALL SSB indexes, but will report only the one configured in SSB-ToMeasure
And made the following proposal:
Proposal 1: RAN2 should consider all the consequences of using absolute SSBIndexes for SSB-ToMeasure. 
Proposal 2: Clarify in IE description of SSB-ToMeasure that absolute SSB indexes are used.
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